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Ne Kousi-Bo IX X X1 4
é rpynn facos SIHBApD despasn MapT anpein maii
1 bl
3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 |73
108cB [Teopusi 3 3 3137 3 3 3 0 0 0 0 0 0 0 0 0 0 T (e
Hpakruica 2 2 2 [ 2] 2 2 2 5 5 5 5 5 5 5 5 5 5 5 [T
Teopus 4 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0 0 [ g
o L7V [parruxa 1 1 1 1 1 | 1 5 5 5 5 5 5 5 5 5 5 5 [
z& Teopust 3 3 3 3 3 3 3 0 0 0 0 0 0 0 0 0 0 0 1o
= | 2%%X [Mpakruka 2 2 2 2 2 2 2 5 5 5 5 5 5 5 5 5 5 5 1 3
- Teopust 5 5 5 5 5 5 5 0 0 0 0 0 0 0 0 0 0 0 o
2 moc [fpaktika 0 0 0 0 0 0 0 5 5 5 5 5 5 5 5 5 5 5 I s
Teopusn 4 4 4 3 3 3 3 0 0 0 0 0 0 0 0 0 0 0 [ o
R T 1 1 1 2 2 2 2 5 5 5 5 5 5 5 5 5 5 5 5
8 mce | Teopus 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 0 0 0 0
pakTiia 1 ! 1 1 1 1 1 1 1 1 1 1 1 1 5 5 Gl
8 muu JTeopus 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 0 0 0 0
IpakrTuka 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5 3 5 3
& [3wx |Teopus T I R A A O A A A T A B T P B T r
= Mpakruka 1 1 1 1 1 [ 1 [ 1 1 1 I 1 1 1 I 1 1 1
= [ 3moc Teopusi 3 3 3 3 ) 8 3 3 3 3 3 3 £] 3 3 3 3 3, 3
ITpakTuka 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
109¢B | Teopusi 5 5 5 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4
IpakTuKa 0 0 0 1 1 1 1 1 1 1 1 1 | 1 | 1 | 1 1
9 mce JTeopusn 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4
ITpakruka 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
9 mun |Teopusn 4 4 4 4 4 4 4 4 4 4 4 0 0 0 0 4 4 4 4
IMpaxruka 1 1 1 1 1 1 1 1 1 1 1 5 5 S 5 1 1 1
é 110cB {Teopust 4 4 4 4 4 4 4 5 5 S ] S 5 S 5 S 5 5
= TpaxTuka 1 1 T 1] 1 1 1 0 0 0 0 0 0 0 0 0 0 0
4 moc |Teopus 5 5 5 5 S 5 5 0 0 0 0 0 0 0 0 0 0 0
ITpaxTuka 0 0 0 0 0 0 0 5 S 5 5 S 5 5 5 3 5 S
4 kx| Teopus 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 0 0 0
IIpakTuka 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 5 5 S 3
13 wr | Teopus 5 5 5 5 S 5 5 5 5 5 S 5 S 5 5 5 S 5 3
[TpakTuka 0 1} 0 () () () () 1) () 1 () () () () () () () 1] 0
7 kam Teopus 5 5 S 5 5 5. 5 5 5 S 5 5 5 5 5 5 5 S s
IlpakTuka 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
6cr |Teopus 5 S S 5 5 5 5 5 5 5 5 5 5 5 5 5 8 ] 3
ITpakruka 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
o 9rk |Teopus 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4
Fé‘l [Tpakruka 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
6cB |Teopus 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4
HpakxTika 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 | o
6 kam [Teopus 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 5 5 5 g
IMpakTika 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 0 0 0 0
Scr |Teopus 2 2 2 21 2 2 2 1 1 i 1 1 1 1 1 5 5 s I s
TpakTuika 3 3 333 3 3 4 4 4 4 4 4 4 4 0 0 0 I o
ISI'C | Teopus S 5 5 5 5 S S 5 5 S 5 5 S S 5 0 0 0 0
[Tpakruka 0 0 0 0 0 0 0 0 0 0 0 0 0 Jeo 0 0 5 5 = 5
14 I'C | Teopus 5 5 5 5 5 S 5 5 5 5 5 S 5 5 5 5 5 5 -
[MpakTuka 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 "0
g 11 I'C | Teopus 0 0 0 5 5 5 S 5 5 5 5 0 0 0 0 0 0 0 0
- Ipakruka 5 5 5 0 0 0 0 0 0 0 0 5 5 5 S S 5 5 B
12I°C | Teopus 5 5 0 0 0 0 5 5 5 5 5 0 0 0 0 0 0 0 0
IIpakTika 0 0 S S S 5 0 0 0 0 0 S S S 5 5 3 S B
131°C |Teopus S S S 5 S S L 3 S 5 5 3 3 3 3 3 T 31 =
Ipakruka 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 T
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